
QUIZ 13  OVERALL QUIZ 2 FINAL PREP 

1)   

 

 

 a)   
84+89+84+79+x

5
 80 

          
 336+x

5
  80 

    336  + x  400   x = 64 

 

  

 b)  
84+89+84+79+2x

6
80 

    
336+2x

6
 480   

    336 + 2x  480   x = 72 

 

 

 

2)  

      u = x¼  

     4u2 - 7x + 2 = 0    

        u = 
7±√17

8
  x = (

7±√17

8
)

4

  

 

 

 



3)  

    

     
(𝒙−𝟔)(𝒙+𝟕)

(𝒙−𝟔)(𝒙+𝟓)
  Domain: x = 6, -5   

 

  Because the (x-6) cancels 

 

     

     matching x exponents 

      *use the x=6 is hole in the graph   

   

 

 

4) 

         Graph open UP    

    a) vertex 𝑥 =
−𝑏

2𝑎
 𝑥 =

3

2(2)
=

3

4
 y=2(

3

4
)2 – 3(

3

4
) + 5 = 

31

8
    vertex (

3

4
,

31

8
) 

 axis of symmetry x=
3

4
 intercepts (0,5)  

 

 

 

 

 

 

1 

-5 



5)   Find the inverse of f(x) =  
2x+5

x+2
 

Switch x and y then solve for y.      𝑥 =
2𝑦+5

𝑦+2
    𝑥(𝑦 + 2) = 2𝑦 + 5 

  𝑥𝑦 + 2𝑥 = 2𝑦 + 5       𝑥𝑦 − 2𝑦 = 5 − 2𝑥          𝑦(𝑥 − 2) = 5 − 2𝑥 

     𝑓−1 =
−2𝑥 + 5

𝑥 − 2
 

Domain of f is {x|x≠-2} Range of f is {y|y≠2} 

Domain and Range of function and its inverse are opposite, THEREFORE… 

Domain of f-1 is {x|x≠2} Range of f-1 is {y|y≠-2} 

 

 

6)  

       

      4log7 x – log7 (x-2)   

 

7)    

        

 Plot center (-5,2) with radius 1 

 

 

8)   

     u =  √𝑥 

     u2 + u – 2 = 0   *square the positive u 

     (u+2)(x-1) = 0 u = -2,1       √𝑥 = 1     x = 1 

       



9)  

 Find rate (k) first:    ln0.5 = e5600k  . 79 = 𝑒(
𝑙𝑛0.5

5600
)𝑡     

        𝑘 =  
𝑙𝑛0.5

5600
  ln.79 = 

𝑙𝑛0.5

5600
𝑡 *multiply by reciprocal 

       
(5600∙𝑙𝑛0.79)

𝑙𝑛0.5
= 𝑡  1904 

 

 

10)   

 

      

    *can’t have y2 

 

11)   3x3 +16 = x2 + 48x   *move all to the left 

 3x3 - x2 - 48x + 16 = 0  factor by grouping 

 x2(3x-1) – 16(3x – 1) = 0 

 (x2- 16)(3x-1) = 0   x = -4,4, 
1

3
 

 

12)  x – 2x√𝑥  = 0   

 x = 2x√𝑥    square both sides 
 x2  = 4x2(x) 

 x2  - 4x3 = 0 

 x2(1-4x) = 0   x = 0, 
1

4
 


